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Developing Developing
. Childien complete the shape o the 1b. Children complete the shape o the.

dimensions 9cm x écm (24 more squares).  dimensions 7cm x écm (28 more squares).
20, 6cm x 3cm = 18em? 2b.3cm x 10cm = 30cm
3a. A/ 126m?: B: 15cm: fotal area: 27cm? ‘8cm: tofal area: 33cm?

Sa.A=20cm?, B = 18cmi

6, B = 30m?
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5a. Children complete the shape fo the

dimensions 8cm x Scm (20 more squares).

s0. 12cm x Bcm = 96cmt
70. A: 7om x 9em = 63cm B: 7em x dcm
2Beni fotal area: s3cm? + 28cmi=
yicm?

ga. A = Blcm2, B = 27cm?

5b. Children complete the shape fo the
cimensions scm x Scm (30 more squares).
6b.Bem x 3cm = 24m?

7b. A: Sem x Scm = 25cm B: 12m x Sem
0cn: fotal area: 25cy + 60cm?
sscm?

8b. A =36cm? B

sscm?
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9a. Children complete fhe shape fo the

dimensions scm x 7cm (46 more squares).

100, 126m x 7em = Bdem?
1o, A: Tlem x 11em = 121em B: 9em x
cm = 36cm?. fotal area: 121cm? + 36cm?
157cmt

120.A = 96cm?,

08em?

9b. Children complete the shape fo the
cimensions 7cm x 7cm (41 more squares).
10b.120mm x 120mm = 14,400mm?
11b.A: 12¢m x 11em = 132cm?; B: 2cm x
4en: fotal are: 144cmé + 24em?





image4.png
la. Hafsa is comect because Scm x Scm =
25¢mso 25 fles are needed.

2. Various answers,for example:

W=3cm and L=dcm, W=lcm and L=12cm
3a. lucy i incorrect because she has
miscalculated. 3em x 7em = 2lem? not
20,

1b. Chuan is incomect because 3cm x
106m = 30cmé not 27emso 30 fles are:
needed.

2b. Various answers, for example:

cm and L=8cm, W=lcm and Llécm
3b. Cianis inconrect because he has
‘miscounted fhe squares. The length i
10cm not %em and 2em x 10em = 20cm.
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4a. Mrs Kelly is incorrect because she has
found the area of the playing field, but she
needed fo divide fhe area by 2 because
ihe fles are 2m. 50m = 2m? = 25 Mrs
Kelly needs 25 iles.

Sa. Various answers,for example:

cm x 12¢m, 6cm x écm, 4cm x 9cm

ba. Sinead s incorrect she has rounded
8.7 10 8 ather fhan 9 o help her find fhe
area. She should have completed fem x
12cm which equals 108cm?.

4b. Ben is incorect because he has not
‘accounted for when he rounded down for
finding the area. He will need one extia
fie fo cover e 9 lofs of 0.1 (0.9) hat he.
has nof accounted for. He needs 10 files.
Sb. Various answers, for example:

2cm x 12m, 3cm x 8em, bcm x 4cm

8b. Josh s correct because he has
founded the decimal numbers correctly fo
help him find the area and completed
dcm x bcm which is 24cm?.
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7b. Gabriel is incomect because 10 file B's
has an area of 550cm?. There wil be @
remaining area of S0cm? which s less fhan
2offie A.

8a. Various answers, for example:

A. 1écm x 0.5cm B. 2cm x lem

A. 3¢m x 2cm B. 8¢m x 0.5cm

A. 7cm x lm B. 6cm x 0.5cm

9a. Alice is conrect. 2 A's and 4 Bs create
arectangle with an approximate area of
s6cm.

7b. Isabel is incomect because 5 file A's
hos an area of 240cm, There will be @
remaining area of 432cm? which s 6 fle
B,

8b. Various answers, for example:

A 5m x 4m B. 10m x 0.5m

A, 40m x 0.5m B. 5m x Im

A, 20m x Im B. 2.5m x 2m

9b. Johnny is conect. 7 A's and 2 B's
create an approximate area of 128cm.




